——
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Q.1 |a. 3 |L1|CO1
b. : 7 [ 12| cot1
¢. | Journalize the following transa‘ biohs in the books of X Co. ® 10 | L3 | CO1

April 1¥ | Commenced business with cash ¢ 10,000
April 2™ | Depositedinto bank 5,000
April 4" | Purchased g “goods for cash 3,000
April 5" | Sold goods for cash 2,500
April 7" | Purchased goods from Mr.A on,;credlt 4,000
April 9" | Sold goods to Mr.B on credit. -~
April 10%] Withdrew from Bank )
April 12" | Paid to Mr. “A” on account
April'15™ | Received from Mr. “B% on account
April 20™ | Took loan from Mr.
April 21* | Gave loan to Mr. “D>

i Paid salarles & *

Q.2 |a. 3 |L1|CO1
b. 7 | L2 | CO1
c. b 10| L3 | co2

) S 3 (rev1sed
*1 2023 | 2022
Liabilities A 4
| | Stock holders equity | 207 | 160 legd assets 300 | 100
%/ |'Long term debt 150 - | Inventaries 100 | 50
i 105 | 30 | Receivables 60 | 30
.| Cash 2| 10
- 462 | ,190.| Total 462 90
ne b fore taxes was Rs,81 lakh. Taxes paid were Rs.27 lakh. Net
Income was’Rs.54 lakh. Cash,dividend paid was Rs.7 lakh. Depreciation
was Rs.20 lakh. Fixed assets were purchased Rs.220 lakh, Rs.150 lakh of
which was financed Vl the issuance of long term debt and the rest from
cash. *

Q.3 | a. | State any three ways of window dressing. 3 |L1|CO1

b. | Briefly explain the-various methods of Human Resource Accounting. 7 | L2 | CO1
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From the following income statement, interpret the results perations of | 10 | L4 Co2 |
manufacturing concern using trend ratios. ;
Income statement (Statement of P and
% (in ‘000’ Rs.
Items 31/3/2022 | 31/3/202 ), 3”1/3/2020 31/3/2019
Net sales 13,000 | 12,000 [+ 9,500 | 10,000
Less cost of goods sold 7,280 6,960> 5,890 6,000
Gross profit 5,720 0: 3,610 4, ,
Less operating 1,200 970 1,000
expenses il
Total 2,640 | 73,000
Add Other income 150%™ 100
Net profit before tax 2,790 | 3,100
Less Tax 1,395 1,550
Net profit after tax o« 1,395 1,550
Q4 Dlstlngu1sh between mTrade discount and Cash dlscount 3 | L1|CO1
al, balance has been prepared wrongly, you are asked to | 7 | L3 | CO1
e.of ‘Reserve fund’.
>, (Amt in Rs.)
: »Heads of accounts ¢ | Debit Credit
Cash A/C - | 15,000 |
), Outstanding taxes A/C - 800
Outstanding salaries"A/C 6,000 ;
Accounts Receivables 33,000 |,
Capital A/C. 1,20,000 |
Inventory - Lo | 42,000
Long term loan 68,000 |
Bu11d1n?§ A/C (Net) 1,20,000°
Lahd A/C & |
‘Account payable A/C~, 14,000
| Other assets A y
| Dividend payable %%;ﬂigii g;r
Show the accounting equaﬁ@ ‘on the basis of the followmg transactions : 10 | L4 | CO1
Mr. Dileep S’tarted his business with a capital of Rs.3,00,000.
Purchased gpods from Mallika‘on credit Rs.70,000.
Paid info‘bank Rs.10,000. ‘.
Paidito, Malhka for full settlement of Rs.69,700.
Cash, sales Rs.2,00, 0007,
Sold goods to Meena Rs. 1 7 5,000.
1) 4 Pufchased goods from«gﬁhumlka on credit Rs.45,000.
Paid to Bhumika by cheque Rs.45,000
Received from Meena for full settlement Rs.1,74,600.
Withdraw ﬁom 'Bank for office use Rs.20,000
Withdraw for Personal use Rs.3 ,000
Paid salary Rs.20,000
Q5 What do youaemeaﬁ'by Window dressing? 3 |L1|cCo1
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From the following particulars, prepare a Bank Reconciliation statement
showing the balance as per Pass book on 3 1** March 2023. Th@,.,{ollomng
cheques were paid into the firm’s current A/C in Mrarch 2023, y but were
credited by the bank in April 2023. Mr. “A” Rs.2,500, M;’%” ‘B” Rs.3,000,
Mr. “C” Rs.2,400. The following cheques were issued by, )‘,he irm in March
2023, but were cashed in April 2023. Mr. “D” Rs.3,000;. l\/ﬁ “E” Rs.5,000,
Mr. “F”Rs.3,000. The Pass Book Bank shows amcredlt of Rs.2,500/- for
Interest and a debit of Rs.50/- for bank charge The ‘Bank balance as per

cash book was Rs.18,000. T,

7

L3

CoO1

From the following information, construct the" sulfable cash book with ¢;
bank and discount column, by
April 2022, 1* | Commenced busmesswmh Rs.16,000 in cash
2" | Paid into bank Rs:14,500
10" | Bought goods for Rs.3,850 and paid by che
10™ | Bought furniture for cash Rs.680
15" | Sold goods, for cash Rs.2,600 and dep051tcd the
same into béaﬂk ol
16" | Bought'goods for Rs.4,850 and pard by cheque
20" | Bought'stationary for Rs.185 ([
22" Received cash from Hegde Rs 680/- allowing
{Him a discount of Rs.20/
| Paid Santosh his dues by a“cheque of Rs.240
{ receiving a discount of Rs;10/-.
Paid to Chandra by cheque Rs.400
Sold goods for ash Rs.585 and rem1tted the
same into bank. b Ry
Cheque paldj@&
Drew cheque for salary Rs.2,365 “4.
31% | Drew che ue for Personal use.Rs.100/-

10

L3

Cco1

Debtor’s velomty 3 months ; Stock velocity — 8 months
Creditors velocity — 2 mo%hs " Gross profit ratio 25%
Gross profit for current‘years ended 31% March amounts to Rs.4,00,000.
Closing stock of thelyear is Rs.10,000 above the opening stock. Bills
receivable amount to Rs:25,000 and Bills payable amount to Rs.10,000.
Find out/ Analyze (1) Sales
+(i1) Sundry debtors

(iii) Closing stock

(ii) Sundry creditors

037
Q.6 Co1
Cco3
On 1% April 2020, a “firm purchased a machlnery for Rs 2, Col |
October 2020maﬁ ﬁ‘ddltlonal machmery costing Rs.1,00,000¢ was purchased
purchased on 1¥ Aprll 2020 havmg
hat is Bank Recancﬁltatlon statement‘7 3 |L1|CO1
State any seven' causes of dlfferences in‘the balances of cash book and bank | 7 | L2 | CO1
pass book. ... & ° Ay
The ratio reiawglg to the activities s of Nat10nal Traders Ltd., are as follows : | 10 | L4 | CO2

3o0f4
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Q8

Case Study:

From the following ledger balances, prepare statement of Inco:
and Balance sheet for the year ended 31* March 2023 of XYZ

'Expenses

5]
—

Name of the accounts

Drawings
Capital ' 5,00,000
Bills payable e, ® - 85,000
Good will y
Land and Building
Plant and Machinery 1,20,000
Loose tools 55,000
Bills receivables : 1,30,000
Stock on 1* Apnl 2022 10,000 et

i - 1,75,000

15,000

Sales Revenue 5,25,000

Purchases .» -
(Chages &

Carrlage outwards

Carriage inwards

ACoal

N N N e e e T
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—
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w, (i1)

(iii)
(iv)
(v)

"Rent, Rates and taxes,

20 | Discount

21 Cash at bank

22 |Cashinhand & .

23 Sundry debtors o7

24 Repairs

25 | Printing and stationary

26 | Bad debts £

27 | Advertisements =

28 | SalesTeturns

29 Furmture

307 ]

3l )

Total 12,75,000
- Adjustments )
Closing inventory

Depreciate: pi%mt ‘and machinery, toofs and furmture by 15% and Land

Buildings y"‘l 0%. )
Outstanding wages Rs.10 000 A
Adwertlﬁement prepaid to the extent of Rs.1,800/-.

Provide 5% on debtors against bad debts and 2% against discount.
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